AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

D FEDERAL CANDIDATE

X STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station an	d Location:			Date	0
1280 Wt	IVR, HA	nover,	Pa 1733	1 4-	6-2016
I, <u>DA</u>	MOUL				
beinglon bel	half of:	**************************************			
a legally qua	lified candidat	e of the	REFUBLICA	ہا	
political part	y for the office	of: PA	919I DIS	TRICT I	REPRESEN
in theF	RIMARY				•••
election to b	e held on:	APRIL	. 26, 20	16	
do hereby re	quest station t	ime as follo	ws:		
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
60 SEC	1 1	9	PAE -	11	1, 2.85
	10A - 3P	1.	emptible	11	1
	3P - 8P			7	
	8P-MO			1	

Market at	
Attach proposed schedule with charges (if available):	\$ 105 2
	4703-

I represent that the payment for by:	the above described broadcast	time has been furnished						
FRIENDS	of Dea Move							
and you are authorized to announce represent that this person or entauthorized committee/organization	unce the time as paid for by suc	indidata ar an						
The name of the treasurer of the	e candidate's authorized commit	tee is:						
B08 MIL								
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).								
THIS STATION DOES NOT DIS BASIS OF RACE OR ETH	SCRIMINATE OR PERMIT DISC NICITY IN THE PLACEMENT O	CRIMINATION ON THE DF ADVERTISING.						
To Be Signed By	Candidate or Authorized	Committee						
4-12-2016 Date	(Can Mou							
Date /	Signature							
To Be Sig	ned By Station Representativ	e						
Accepted	☐ Accepted in Part	☐ Rejected						
Signature	Printed Name	Fitle						
	•							

FEDERAL CANDIDATE CERTIFICATION

In Order For Federal Candidates To Receive The Lowest Unit Charge During A Political Window, The Following Certification Is Required:

l,	
(name of federal candidate or authorized programming to be broadcast (in whole or	committee) hereby certify that the in part) pursuant to this agreement:
□ does	□ does not
refer to an opposing candidate (check programming that does refer to an opposi	applicable box). I further certify that for the
(check applicable box)	College
the broadcast.	
displayed printed statemen identifies the	clearly identifiable photograph or similar least four seconds, and a simultaneously candidate, that the candidate approved the e candidate's authorized committee paid for
signature of candidate	or authorized committee
printed name	date
<i>'</i>	

AGREED UPON SCHEDULE

(TO BE FILLED IN ONLY IF STATION DOES NOT ACCEPT ALL OF CANDIDATE'S REQUEST)

Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
-	Rotation or	Rotation or Days	Rotation or Days Class	Rotation or Days Class Times per

Attach proposed schedule v	vith charges (if	f available):
----------------------------	------------------	---------------

AFTER AIRING OF BROADCASTS:

Attach invoices or Schedule Run Summary to this Form showing:

- 1) actual air time and charges for each spot;
- 2) the date(s), exact time(s) and reason(s) for Make-Good(s), if any; and
- 3) the amount of rebates given (identify exact date, time, class of broadcast and dollar amount for each rebate), if any.

Note: Because the FCC requires that the political file contain the actual times the spots air and the rates charged, that information should be included in the file as soon as possible. If that information is only generated monthly, the file should include the name of a contact person who can provide the times that specific spots aired and the rates charged. The FCC's online political files include a folder for "Terms and Disclosures." NAB suggests that, for stations subject to the online public file rule, the names of contact person(s) be placed in that folder.

et - over a service Selected M osses et _{service}	one week bayanda was en	DAW. MOUL	A consideration of the state of	PRIMARY 2	016 W	HVR
	e Managan ka ta da sai sai saineghisissan ili jalan ka Managan ka ta da saineghisi saine	6A-10A	10A-3P	57-87	87- MID	DAILY
aper	_5A		ne e e e e e e e e e e e e e e e e e e			
4le7	-ea		er de yn deithe englend fergengenn, de yn bellef en genter oan en e fanja'r resselfer - daire mae'n e			D - + Miner Mountain Control of the Publisher Administration of Americans
પહિ	A			- S1500 - 1500 S1500 S15	and the second s	2
વાત	TV				randomini garangan kalangan kalanga pagangan dan dari kalangan kalangan kalanggan dan pagangan dari kalanggan d	***
4/20	A CONTRACTOR OF THE PROPERTY O	The second secon	mentenden er tromas menten er sær sen skinderskanne om er er er er kommende er kom er er er			<u>2</u> 2
4ki		A second			The desired control of controls and the control of	2
4/22	COMMENTS OF THE PARTY OF THE PA					And represent the best and account account on the property of the analysis because
4123	and the same to be a property of the		n na tanàna na mang mang manana ao		anticon es contra de como de la destrucción de respiso com esta del cale del de del appropriato de la contra de	3
4(24			en e			3
प्राथ		2	2	2		<u>3</u>
4/24		2	2			6
and the second s	and the second s		e tradition de la planticia de la participa de la company de la company de la company de la company de la comp		en andre and himself the second of the secon	
mate terminates in a comment residence accommendate	er". Nik min en paper in ges, er lagar				radio articles (Me. 14. M. 1500 F. S.	30
		30 x 3.5	0 = \$10500	VIA WG7	Y	
	in a distribution of the second of the secon	FRIENDS OF	F DAN MO	וטב		
The State of Superior States and Superior States	na dina (na maga na	ATTIVE: BOB	MILLER			Million (Control of the Control of t
ope rammes had skinder to record on all parts.	Park to the second second	355 MAW	STREET			the a throat court, specially state and another property specially
The same of the sa	-	Mc SHERRYST	2	17344	an Africa e embod de la description de la page de la	and a large way of the company with the same and the company of th
		717-637-1	•			demonst this labelland day is the page of labelland property of the department
	ent an encoderate y an en				the effective field the control distance and consistency personal state of state of a serious of the serious of	
er e sommen versaget de dissers a qu	and the second of the second o	PRODUCTION !	FROM WETY	VIA WALT	TUCHALIKI, 717-3	09-2482
THE STATE STATE OF THE STATE OF	make Mik yaran - I kana kananaya		Committee and the second secon			
						(2.

SIGNATURE		JAHUARY		TOTALS					1086 h	A)SSIE	4/35/16	412516	A1811A	A 18 110	41816	BIART DA			NOTES						<u></u>	Dolor	
	-	FEBRUARY						-	alloelh	allach	allella	all ach	MINGH	Al Melh	MIHELY	DATES			SALESPER	PROGRAMI		☐ ADD TO	□ SUPERSED	DANEW ORDER	AUTHORIZED BY:	JE. Vhn	TIME ORDER
Osbut E. Howest		MARCH						•	\dashv	و ا	છ છ	ಶ ಹ		- ·		K 7			ON HOY	PROGRAMPACKAGE			SUPERSEDES PREVIOUS	÷	•	to the	S
test	1050	APRIL												-		BROADCAST PATTERN			B		☐ REGIONAL	☐ NATIONAL	AGENCY	DX TOCAL	. *	c	0
		наү				-							-			PATTERN						4	CO-OP [STATION WITH	ACCOUNT #	RACT	DATE
		JUNE			······································	_	-		+		-			-								,	CO-OP XPOLITICAL	NK	5		4114116
		JULY		2)		-			1		<u>اء</u>	エ	ω	1		#SPOTS	.										
-		August			-			1	300	200	5 8		7) (2	5/8	- 1	DAYPART	PO#	L06 A8	BUYER	CITYISTATEIZIP	ADDRESS	AGENCY	PHONE	CONTACT	dZ	ונגו	ADVERTISES T
		URGWILATS						310	10	01	30 6	5 9	8	کا ا ا) S	X				-					WESTON	50 77	ropodo
	+	OOTOBER	M	Lie Lie	} £			+	00	+	+	+	+	4	-									•	nestavi	500	10 m
/ //	+	R HOVEWARD		PIBCOON	GROSS			3 30	300	10,00				00,00	PATE									1 1	らつでの	00+	ς } 2
-	DECEMBER	\dashv	\S					350	14.00 100	H. 00	14.00	300	04.50 04.50	05.hB	TOTAL \$										13) /_

WYCR-FM WHVR-AM FORÉVER MEDIA, INC. 275 RADIO RD HANOVER, PA 17331 717-637-3831

Order #: A

A1057-00012 AM Radio Spots

Date Entered: P.O.#:

4/15/2016 House, House

Salesperson:

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date Notary Req'd

FRIENDS OF DAN MOUL C/O MILLER, BROWN, OHM, & ASSOC. ROBERT W MILLER, TREASURES 335 MAIN STREET MCSHERRYSTOWN, PA 17344

		_		
nn.	. A i r		hor	lule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Qty	Rate	Total	<u>M</u>	<u>Tu</u>	W	<u>Th</u>	<u>F</u>	<u>Sa</u>	<u>Su</u>	
1	4/18/2016	4/26/2016	WHVR-AM	06:00:00a to 10:00:00a	CUSTOM	1:00	11	3.50	38.50	Υ	Υ	Υ	Υ	Υ	Υ	Υ	
	4/18/2016	4/24/20	016				7	3.50	24.50	1	1	1	1	1	1	1	
	4/25/2016	4/26/20	016				4	3.50	14.00	2	2	0	0	0	0	0	
2	4/18/2016	4/26/2016	WHVR-AM	10:00:00a to 03:00:00p	CUSTOM	1:00	11	3.50	38.50	Υ	Y	Υ	Υ	Υ	Υ	Υ	
	4/18/2016	4/24/20	016				7	3.50	24.50	1	1	1	1	1	1	1	
	4/25/2016	4/26/2	016				4	3.50	14.00	2	2	0	0	0	0	0	
3	4/18/2016	4/26/2016	WHVR-AM	03:00:00p to 08:00:00p	CUSTOM	1:00	7	3.50	24.50	Υ	Υ	N	N	Υ	Υ	Υ	
	4/18/2016	4/24/2	016				3	3.50	10.50	0	0	0	0	1	1	1	
	4/25/2016	4/26/2	016				4	3.50	14.00	2	2	0	0	0	0	0	
4	4/18/2016	4/26/2016	WHVR-AM	08:00:00p to 12:00:00a	CUSTOM	1:00	1	3.50	3.50	Υ	N	N	N	N	N	N	
	4/25/2016	4/26/2	016				1	3.50	3.50	1	0	0	0	0	0	0	

Order Start Date: 4/18/2016

Order End Date: 4/26/2016

Spots: 30

Total Charges:

\$105.00

All advertising is sold pursuant to the conditions set forth in the Stations' advertising contract. We do not discriminate by race or ethnicity in the sale of advertising and will not accept advertising that we have reason to believe is placed with intent to discriminate.

April

2016

Spot Count 30 <u>Net Billing</u> \$105.00

Confirmed & Accepted for WYCR-FM WHVR-AM By:

Accepted for FRIENDS OF DAN MOUL By:

WYCR-FM WHVR-AM FOREVER MEDIA, INC. 275 RADIO RD HANOVER, PA 17331 717-637-3831

FRIENDS OF DAN MOUL

Advertiser ID: 1057 - PP

Amount Paid _

A1057-00012-0000	4/30/2016	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

A1057-00012-0000

O 4/30/2016

FRIENDS OF DAN MOUL C/O MILLER, BROWN, OHM, & ASSOC. ROBERT W MILLER, TREASURES 335 MAIN STREET MCSHERRYSTOWN, PA 17344

Purchase Order Number:

Est. Number:

Co-Op:

Description: AM Radio Spots Salesperson: House, House

Date	Day	Length							Qty	Rate	Total
					ISCI (Code: NA					
4/18/2016	Mon	1:00	WHVR-AM	07:06:46 AM	10:25:43 AM				2	\$3.50	\$7.00
4/19/2016	Tue	1:00	WHVR-AM	09:21:38 AM	01:35:40 PM				2	\$3.50	\$7.00
4/20/2016	Wed	1:00	WHVR-AM	08:34:13 AM	12:38:29 PM				2	\$3.50	\$7.00
4/21/2016	Thu	1:00	WHVR-AM	07:07:42 AM	12:07:32 PM				2	\$3.50	\$7.00
4/22/2016	Fri	1:00	WHVR-AM	07:39:20 AM	12:51:06 PM	06:04:59 PM			3	\$3.50	\$10.50
4/23/2016	Sat	1:00	WHVR-AM	06:02:00 AM	12:35:42 PM	04:04:31PM			3	\$3.50	\$10.50
4/24/2016	Sun	1:00	WHVR-AM	06:02:00 AM	12:30:49 PM	07:50:49 PM			3	\$3.50	\$10.50
4/25/2016	Mon	1:00	WHVR-AM	07:33:37 AM 06:05:08 PM		10:18:29 AM	12:54:24 PM	05:04:38 PM	7	\$3.50	\$24.50
4/26/2016	Tue	1:00	WHVR-AM	07:34:23 AM 06:21:35 PM	08:33:45 AM	10:21:30 AM	12:06:59 PM	05:04:01PM	6	\$3.50	\$21.00
										4	
			İ								

NET 15 DAYS. LATE FEE OF 1.5%/MONTH (18% PER ANNUM) MAY APPLY.

All advertising is sold pursuant to the conditions set forth in the Stations' advertising contract. We do not discriminate by race or ethnicity in the sale of advertising and will not accept advertising that we have reason to believe is placed with intent to discriminate.

Affidavit Of Performance: I,

County: Adams State: PA

Robert Innerst - Station Official

certify that in accordance with official station logs, the above announcements were broadcast on the days and hours stated. Subscribed and sworn before me this 2nd day of May, 2016

Total Due

Quantity

\$105.00

\$105.00

Karen L. Smith - NOTARY PUBLIC Commission Expires - 7/23/2017

Hotaria Seal Karen L. Smith, Notary Public Conewago Twp., Adams County My Commission Expires July 23, 2017 MEMBER, PENNSYLVANIA ASSOCIATION OF NOTARIES



30 Total